N = 0l & AF & F Al A

20108 =0llat LESIA AISRY ~ MR

A MR

By Rl

Sl KAl 2ot (S5 &)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
A2 Dt 1,167,403 981,286 86, 117
soel 1,042, 181 859,011 83,170
Nl =3t 514,495 484,381 30, 114
DHAIXHE RHRI DX 2N 2t 348,966 321,991 26,975
201 Y2 273,766 256,556 17,210
01 At 49,950 58,950 9,000
O1 Yer+gt| 47,150
> =8 XA 60, 0002 #4008 A 24,000
POIYEBSFUNAASL4E
55,0003 5001 = 2,750
>ENT Y 3,600
OXZH SHEE L AT
100,000% 105 1,000
OXIZH BB 40,0002 #6552 2,600
>PPT O RUXLHIR (KA. M2I+2 o &S]
£2) 2,000,000% x33] 6,000
>EW,SE(ZADI, ZRIED])
300, 0002 *10CH %23 6,000
> =AEX 20,0002 +20t A 128 4,800
03 2g+g 2,800
PUHEZAOIAR BHLY
70,0002 2113l 560
>AHIA RS B2
70,0002 +821 %33l 1,680
DUHEHS ARG AL
70,0002 +821 18] 560
02 IT2YH| 223,816 197,606 26,210
O1 2322 2 HAl 200,720
PDXNNESRERS 195,720
09 1, 7502 %15,00004 26,250
oYt 25021 %675, 0000H 168,750
0SJIeBEIE 1, 50021 %4004 * 122 720
PUSYHRESXM 25 2502 %20,00004 5,000
O3 A&ZHIRA] 23,096
> DETRAEIISNESSH (DAMESE)
49,350, 0002 +2CH+8/100 7,896
>=EIISX S (DA EEE)
18,000,000% * 1CH+8/100 1,440
>=AD RXIE ] 400, 0002 *4TH =23l 3,200
>RESBRANALY X 24U
330,0009 122 3,960
P2 00IXEEZ| ALY
330, 00024 * 122 3,960




SN

I‘I iH:

¥=]

IS 3t
IR

AN R

S E O (EH) - MRAY - B s e
- o= T ° - [= Bl e =5 O:H{ﬂ,%
D> G Al One-Stop S ItAIAE KRXI2+H|
220,000 x12& 2,640
202 O4H| 23,700 23,700
01 =LA b 23,700 23,700
OXIZ A Dt S P23 O I 1,975,000& =123 23,700
403 XXM SA=01H 35,500 41,735
02 SIS0 CHStCH & ArE Yl 35,500 41,735
OEZFXNLAN BEAALY X2t
31,500, 0002 * 14 31,500
OSE XN YN B AIAE (WeTAX) 2]
4,000,000%*1/%' 4,000
405 KtatE S| 16,000 0
01 AHAEESHSHI 16,000 0
O=8gol 16,000, 0002 * 14 16,000
INEFEIIZ AL E A E 165,529 162,390
101 14| 35,975 31,679
04 JIZtMZ22XRSE+ 35,975 31,679
OMNE=EINAIA EXRF 35,975
= 34,9003 x240 *521%50/100 20,940
>&N3 34,9003 x21 %4 3| 521 %50/ 100 7,329
DI 34,900 48 521%50/100 4,188
DAY 34,9002 x82 ¥521%50/100 698
PINESEZ MNEE =S
24,0003 128 »521%50/100 720
DALAEEZ H3EE=
350,000 *123]*50/100 2,100
201 LBt A Y| 108,054 125,111
01 AtE222|H] 101,379 116,886
O1 et=ZH| 99,069
e = 92,739
O1.1D|& MWEFEIA S22 87,609
5 T
5,800 *29,000& %50/ 100 84,100
¥ QJANMESIIZLHE
7,260& *300= %50/ 100 1,089
¥ 0l EIIAAE
24,2003 2005 50/ 100 2,420
ODIBAIREFSIIY BE442
57,000& 900 = 5,130
DINEEII BB SN2
60,0002 *30& A *50/100 900
D& =2 N & 55,0003 32l A~ 33| *50/ 100 2,640




A MR

By LRl

Sl X 2Al 2o (St &=
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
DEH Y SE(SAD,Z2IED])
300,000 *3CH *435] +50/ 100 1,800
DAZ=ZI(EXS) 33,0002 +60HA*50/100 990
08 244 2,310
DUHEZLOARAS| FAHSE
70,000 *821%235| x50/ 100 560
DESAEIIJG A
70,0002 *1091 ¥55] %50/ 100 1,750
02 222%H| 6,675 8,225 21,550
O1 2222 2 HAl 4,375
DREHS LSU(ZEEXR)
25094 %35,00024 50/ 100 4,375
O3 A& EHIS X 2,300
D>HP HAM 2,600,0002 %50/ 100 1,300
D> Tablet PC 2,000,0002 %50/ 100 1,000
202 OfH] 3,000 3,000 0
01 2o 3,000 3,000 0
A D431 0 H] 3,000,0008 x4l 3,000
405 KHAHE SH 18,500 2,600 15,900
01 ML SEFSH| 18,500 2,600 15,900
Ollgz=el Cop| T2 O (BIgAl
3,000,000 *7CH %50/ 100 10,500
OUHERIAELIX (IO MEEI)
5,000, 0002 x50/ 100 2,500
otlxgszga 11,000, 0002 *50/100 5,500
XAl & 363,042 267,088 95,954
XAl HIehod =l 189,212 111,638 77,574
201 LEr2HH| 143,670 68,670 75,000
01 AFR22t2IH] 29,300 29,300 0
O1 YBtx=2H| 29,300
DHYDIN(ZER) 60,000 *300+ A 18,000
DEH,EA(2AMI,Z2IHDI)
300, 0002 x7CH *33] 6,300
PEMKLIE CH UM (DEZ2IEHD])
5,000,000 x1CH*13] 5,000
02 Z22ZH| 114,370 39,370 75,000
O1 2222 2 HA 110,770
DECZEARE 45,000 *4LH* 122 2,160
DESZ SANLARYZ DAL 2(F2E
) 1,500,000 *2CH 3,000
DEEDIAN RELS2 105,610
oF=pJ 1,75024 3,000 5,250
OYEIRH 25024 *400,0002H 100,000




CONIS I
Dy

CAEA e

- _ _ N e
M- E= . S9l(3) - MR - BAS Abod e HlDE2
OsJ|ISHEES 1,500& =200 x12& 360
O4 XHE& eI 3,600
DUERIH(E+SIHE)
150,000 »2CH x12& 3,600
202 O4dl 13,542 10,968 2,574
01 =LHA b 13,542 10,968 2,574
OXNLME=H2 -l 1,128,500 +12& 13,542
303 Z&2 32,000 32,000 0
01 ZA2 32,000 32,000 0
OBEST YN M D4 Za3
00,000,000& *2.5/100 15,000
OXNEgM =+ 58S X443 17,000
D>z 5,000,000 x1HSHS 5,000
> 3,000,000& 2 SHS 6,000
> & 2,000,000&+3MSH= 6,000
HHNEEE 6,300 6,300 0
201 LBt 6,300 6,300 0
01 AtSR2t2ldl 6,300 6,300 0
O1 LEt==ZH| 6,300
PEEE % MH 6,300
OFIIZ Ay By 28
60,0003 *35H A *33l 6,300
NIE S| Al 24 =Y 167,530 149,150 18,380
201 Let23y| 167,530 149,150 18,380
01 AtR2t2ldl 149,050 146,750 2,300
O1 get=ZH| 149,050
D XYM CIHYER(XIZ) =22
50& *15,000A 750
DHBSA0S(MSOIH) =22
50& *26,00024 1,300
DRA MBS 4 242
208,955,000,000& *3.35/100%2/100 140,000
D OFA A R LARS, SMSMHI A2
100& +70,000H 7,000
02 3224l 18,480 2,400 16,080
O3 A& &Hl =Xl 18,480
D> U-XI2 AI8572A1 A 8l = XIH
550,000& x12& 6,600
D> X2 AHIARS KtSQHLHAIAE =X H|
220,000& =128 2,640
D> X2 MISMS &S HHAIAEN | X8I
330,000& = 12& 3,960




A MR

By LR

el KAl & (St &=
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
D XAl A2IIE ZHAAY SIIH|
220,000 122 2,640
DXIZAI QI Y DA A AIAEN S XH
220,000 * 122 2,640
KIS Al IR ZEA 20,368 21,718 A1,350
ES220 Hayu2 20,368 21,718 21,350
201 LEt2HH| 2,700 4,050 21,350
01 AFRZt2lH] 2,700 4,050 A 1,350
O1 Ygta=2H| 2,700
DEY, S (ZAD|,Z2IED])
300, 0002 x3CH *33] 2,700
202 OfH] 7,668 7,668 0
01 2o 7,668 7,668 0
OXNEMMBEANSSSE Y|
639,000 » 122 7,668
303 A= 10,000 10,000 0
01 Za2 10,000 10,000 0
OEREUMALZ 200,000, 0002 *5/100 10,000
2EE Y2 67,580 36,800 30,780
Hatets o 2O 2 50,400 27,540 22,860
201 LEr2HH| 44,220 21,360 22,860
01 AtR22t2IH] 44,220 21,360 22,860
O1 Ypka=24H] 44,220
DHYSHE(RPSAMAZ MM EXN222)
4,000 603 * 122 2,880
DEJREE I £=2 T700R+200H*12& 1,680
D> Z0HIHA M X2 300,0002 254 7,500
DR W2X3 &2 2,00021,5003] 3,000
DHY MEEBAAY 0|22
330,000 * 122 3,960
DOHS2ENLR 22 4,0002 *6,000H 24,000
DEL,EH (A, Z2IHDI)
300, 0002 20} 23] 1,200
202 04 6,180 6,180 0
01 2o 6,180 6,180 0
OMEHEAD L 0] 515,000 122 6,180
ASAHHST A 17,180 9,260 7,920
201 LEt2HH| 14,000 6,080 7,920
01 AtRZ2lH] 2,480 2,480 0
O1 Yeta=2H| 2,480
>PDA BEOIE22 40,0002 «12& 480




SN MR
Za: 2o el

cHel: 30'2463 M2 (&t x e
- < - PSS I =
2N -3 - c2(3H) - NEME - HES 0] Ao @E% Hl =2
DXSHSE L2 (LXIAl X224
200,000 *10CH 2,000
02 222%H| 11,520 3,600 7,920
O3 A& EH S 11,520
D> PDAS K| £ 2=H] 30,0002 *30CH*43] 3,600
DHSTHAX XEHAIAE S B4H|
330,000 * 122 3,960
DRSUZHHAIAE SKE 24|
330,000 * 122 3,960
202 O4H] 3,180 3,180 0
01 2oy 3,180 3,180 0
OXNSAHHS ARSI RP430IH 265,000 12 3,180
M2l 2=l =H 76,696 49,024 27,672
Ol Kt =TH 4,100 5,780 A 1,680
201 LEt2HH| 4,100 5,780 21,680
01 AtRZ2lH] 4,100 5,780 A1,680
O1 Yeta==2H| 2,000
DEASTME 222 2,000,0008 x 14! 2,000
03 2g9x¢ 2,100
DIIRESaAE A
70,0002 x1091%33] 2,100
NI Mo & 72,596 43,244 29,352
201 LEHRHH| 23,960 12,500 11,460
01 AFR22t2IH] 13,000 12,500 500
O1 Ypka=2H 13,000
D AeIZ=L DA 60,0002 «80+ A 4,800
DE,EA(2AMI,Z2IHDI)
300, 0002 *3CH *33] 2,700
DAHSIEQ AEIESLY 242
5,000,000, 0002 0. 1/100 5,000
DA2se JIAAHTERE =5
10024 5,000 500
02 222%H| 10,960 0 10,960
O1 2222 % HA 7,000
DHYEDXAN LS RER2
2502 7,000 *43] 7,000
O3 Al ZH| |XIHI 3,960
DA 2= IAH R HRAIAS S|
330,000 » 122 3,960
202 OfH] 14,010 12,744 1,266
01 2o 14,010 12,744 1,266
ON2=-=2dMEgHE -T2 Y|
1,167,500 x12& 14,010




A MR

By polpe

&2 M2A=LSH CEREED
SN HH G (EH) - MBAY - BYS 01l &k o Soe s
303 ZAa= 9,200 0 9,200
01 Z&3 9,200 0 9,200
OM2=g MEHEs 2N L4 6,200
D> xR 800,000& *3I1 £ A 2,400
>R 700, 000& 24 =2 M 1,400
> & 600, 000& *4JH = A 2,400
OHNEE NA-LUMEN drZis
100,000,000& *3/100 3,000
403 X HMSAH=01H 25,426 18,000 7,426
02 BI|12S0CHStCH AL I 25,426 18,000 7,426
OMe =2 AAE R E4H|
13,000, 0003 =14 13,000
OMe+LEESIAIAE NE3 FAAIY 2
=) 12,426,000& * 14! 12,426
HE2H A 125,222 122,275 2,947
ol 2HH|(HR) 94,284 89,690 4,594
ol 2| (HRt) 94,284 89,690 4,594
101 el 89,484 85,010 4,474
01 B+ 89,484 85,010 4,474
OANZt 2R 7,457 4021 «300A| 2t 89,484
203 AR 4,800 4,680 120
04 FN2ILRFAHI 4,800 4,680 120
OFRN2IHRF&HI 400,000 123 4,800
Jl2ddl (M=) 30,938 32,585 A1,647
Jl2Z (M=) 30,938 32,585 AT,647
201 LBt 3| 23,038 28,985 A5,947
01 AtE22|Hl 21,120 26,472 A5,352
O1 git=ZH| 11,040
D> A== 4,000% 30 <122 1,440
DEMSIEFEH| 800,000& = 12& 9,600
O5 =&l 10,080
Dot 5422 7,000 #4021 33| x 12& 10,080
02 3234l 1,918 2,513 A 595
02 AZH| 1,918
DAFRA (L) 7613 x105 x8A| 2++3CH 1,918
202 Oidl 3,600 3,600 0
01 =Wl 3,600 3,600 0
OJl=gf=d80tl 300,000& x12& 3,600
405 KHAHFESHI 4,300 0 4,300




AR
DU WHSIAL

el JI23H (M)

SA - M. CHY (B NEAY . B2 Al OH dE e
01 XL SSFSHI 4,300
OXtet & =2FH=H| 4,300
>PC 1,300,000 *3CH 3,900

> FAX 400,000 = 1CH 400




